ARl 144y Tee

'Km!hh@$!'KId . mM$rh$ ! Kldg! rdmh/ 'h 35 3m




see A R$-3esU -A 3%’

Ta®B1 &\
iRy e
OFyY lee
6FYy lee
Oy le
oEy lee
Oy le
+ Ay lee
v!3s ! 3su
. Bee

od' -5 $ o aal

$-3le® $A3]

As siisi »

ou

=]
ox

=1
1]



see A3 R3$-3Ta38U A 38 $-37as $As] A3 §iisi s 30

a3 &\

, SdrJ$!3n#h

13$AIR-3$!T i$Tay Tee $ Tae-$+3y <A3aB-33Ji
$3 A3 g§iigi 3 $,1 $U06@a*e3e$-’ $J 3 $-13 3
I Al @eA3x$s Useaede $ 135 13ASA iR3ae$ -
& $C3132$!%A 303z $,1 $%& (8URae$3Tase:
® 3 $A'e+3 $C3!32 $3x -38U3%x$ & 3 3$!llae+i
@ 33%y3 O0a@Rigi3ee$mizdia $re 3 3$31A32 R

, 3R J$hs Zr

J3lee3$3A3e3$/3] $-13¢/3! S$a3laed $Alae-3 $
ASITesiesies-138/3] i43e$0 1 "RBI I3
Jids%a 3$0i3 ' $ 13 38548y Tae $i -a3 3$ll 3 3

C3!3e$ &-% §8I'AA 3@$hieaes ®-3$S - ®AS$ =
&l $a2'81$3" 3 $580I$ 1 U3$ee &$’ $431x38$5e
A $ 1R

, h$dX/ nBh

/31 $- $!3 $'e$-3$r A @x-%$-31ed $C3!3a
181 3R! $iesUiay iais °$.14$ $Uiaa $ie
h3R! 3'a i @®A$ &-$AR’ i3] $,3xxes$- $-18
-37@s $reely 38 131 $ s-$-181%7144° $431 $ 3 Ua
- $@e+izizae $ $+ $-1 $A%6 $ ' $0I” $ A$'RR
3+73] ®@Asae $/3B-$ - 88U $,1 Usee $. RR3

, 39 3% 33%h

lTee A IR32$Ta$-133Ji83% 3 $ 3R3 8§ 3a$-3 $7
3. "A3a$!3 3A%ae $-i3%° A 3iAce $ [2$/2AK iR
al $liee3ee$ RT3 $ 32$A0 y3 $ & 3 +3¢ $



s A B3$-313$U <A 3% $-2ias $A3] A3 §iisi 3 36

A 5 adEKm
[ ] Vd
3% I

313$,"IR$A $-i3 3 $C313e$l $-3Te$A i 3 3@
hie$A3id6 $-1 $hi3sa’8i $-181$ &’ Ai'R &
52l $!7 $- $A3 'A’e$ a8-$° AAsiilse
s, IR$Y B 13 $lees-2Teedees -° &
333, IRST $A’ 485 =-$A”
5ee$il $!7 $- $ 1§03
hisg!s 3A $'RR3
n 3 )

$ 5hm

$'|' $3ja89$3 Lbys 3% ’[[y”\ $i3 3 @:3%

3 $3 331 A'l @A ' A$Be- $ @ $3We $-1°2 $r @ $A $-12 3 $C3m$
13 $+ $1eU’ i3 2e$ &-$-’' $C213x$ia$’'BRS 3leseshsl’ 13 =A3ae$
-3 T $A $3Me$ 3 3@ $RR3 $ 'hile

T $0ia4%@$" A$-13 31 -3$41 $-13 3 $ eAsle-TA 58! (B S$ !3a 3
Ci3!3 $81 $lee -38U3 A 3 -33 &-$.1 8§ @A - '&@A $. IR3$-133 ' 3¢ 1
[2A3@-3 $4 AT 8% $iae 2 | 2$! 2R3

SA $ 3 -32$ 1 $!33 $A (341 $ 8143 +RIgi2es! A'l =A3aesUixA ie
s @ 81 $A [R3a@S$-13$vIs Al -3 =A$-3 $J 3 $-i3%a (IBA3$-3 $raAs
4l $d 8U+ A $ @A $.1 $!" 3$,i-3 <=2-38" AS$,1$y 3a$ §liasA |

' 3ge$ e ¥ 3% 33 3@e$! Al =Ase$-’ A A $re 3 $r 3 2m$ i -$/
2 1R $
© §133T AR $ @ 3 %a2$,'ASA $A $a3 3ShSI 1 3% =-$ & 3 3$le §i°

Sees | $ @ 3 $R2 8l -3 $@ $-32$RIAT 13 3e-3e$K3lae $iyAs & $!f
C3lsee U A $radAsUz $U a®$ & $-’ $h8lasR+3$-1° BB, -25A =A%
A 3iR3A3=S e$-33es | $isi $312a'R$ 3




see A R3$-3Ta3$U <A 3%’ $-3Tees $A3] A3 §il§i ° 30

0 & adKm
3893 e &

ree’ Aio Rigi$ §ioyA $- $' $-3iae3 $Ci3!3 AR
$ 11715 $+ 1 8§i32e$371443R% e-$! -3
$33lee $ =-30 313 $aP 3 $C3!3z

3 3l $-13%aiR3$Tass-1 $ 3R]

h3g 'BT « $ A$'BR3:$!!3x3a

33 RTAST $-1° %%.2

I $hgidsR+ysaeU

52 -334%-

5hm

$1 ¢y 382 e A |8izaBladzBaes -3

3fee3ss 3% 2 | A$al $-3 $,3R $ ' $3laes$2U ' 1 8i2 $hgiasR+y &U
reel 3 3ee$’ A’lee’ee-3 $ 3 3A 2A$y $m'e+$-3 $3i &ies $-2 $JiR30
5eAi & liese $ $i-13 ®Aze$ $-3 $3 !lee- 2AS$ ie$’ 2 $ &-$J
S BT 3R $ee® $AST - $ S 0§ ciec$s 3%J3° 3 3 $-13$I13A & 3 310
o3 llee- ®A$-3 $aiR? $&° U Rie$ =-$A38lele $/ i 3 $h8I6yA A &8
AR3Tae 3 $A3AI 3@ $ $iee$-3lae3ae$Ad y3 $A3AI 3z $K 2$!1 $- $'R
lee3 Al3 3 3$A06 y° $! -3 $J° 3 13 a-$ 3 Uo y® $-133$Ci3!3 3 llae-
A0 $-° $lee-BI§I0UT $-13 3 $C31% $ $!1 $-13$(31RTA3S3 lTm- A+
il2e$ ®-% ® 3 $UR3Tes a&-$A i $Uidy 18138 $ &-$ ®2e-RI8I$ 3]
[2A%e o +3 $Ki3$U'e@ee $- $° $-13 3 $$° |le- ®@ASA' BB

136723 A &@A$ ' $-31ae$3 3 $C3 ®A3R- $ 31e3$IR 3 &3 -3 3% ([e3a
h U 3e$i’ 3% 3-3 2A$A $-181 $hiss 3! 32$-3$moyyisisA $-3i
DAl eeA$al $-2$aiRe$-12 2 $! -2 $41 $ 2+i2] @A $h2$ BT « $+ $
I $3-3 A $i'$- $1ae3iae3$!3R’ 33$33 U A $41 $- @UR3e$mizés
Jidse $31ee$)? 3 $A 2 -TA® $,IRRUT&&%e "U $A $-18i% ° $! $U44
C3 8 3a$!° 31 $A3-T4& $1° $i-3 $AT $A3! @-3B 3 $A 'A $iae $m i +-3;
Tee-3 TA$ e-$32 8§iRi 32 $3iR$-1 $-3T$.3 3 $+ 8§U




see A R3$-3Ta3$U <A 3%’ $-3Tees $A3] A3 §il§i ° 36

0 & adXKm
3 o
3|lakl’ a

$!1T $-3Tee3$hieae3s+ | §itee$rael 2 $383$ -3$! -U3 &
3 $r 3 $'|' $_3‘|‘33$3 3 $3'|'A3&3 $Z [+ s
313 1 $-3Tee$d’ & $-31e3$J’ 81
313 ¢ 81 $- $ 'R TA
312 $1 $-3TeSAOBSIA 2781
m3iR $-181$ ° 3%e-A’8i
re’ Ai'R %&
T $e$-3Tees
| 3@ +3%
i

$1 @' ASe$s M P A$isaac$ i

©$13A 81 % 3$10$3 3781 $-13$/%1+ & 3 $303 $eel 3 $- $-158i$37 $ &
*81 $ 31 $ !3 $-181% 23R! $ilae’ ¢ i3%aR’ +3& '$'R $mM3IRS ie$-1 $ee-
$eldd $d &4%$%Tee $ -$° Al  $-313$/ 3e+32 $30° $1 $-3Ta3$As
h3g! 13 e $ $!1 $y 33$lee 18UR &=A $ 3 IR $-3lee3$5x2Ai & lie
3 3[R $-T81$-"41 $13 31 $lee$-is 3$,3R $ 3le3$!es AIS$SARI® $ea’8i
de$iees ?$ e&-$ 32 $,°81 431 -$lees-13 2843Ji4%e $A =-R3A3a
T3¢ 1803 $- $-181%$-"4'BR $A IR 3 $A3RI3! $ -3 3! -3 $,13%- $-31a$
aR’ +$3laeeid $-3laesAdxelA 318i$" Al $-3lae3s/ se+3a$lseae $
372 $1 $’ §1$-2 $S $-3 $'§i$’ =$A3 18] 3 se$les Als $-2 % U '/
hisg 3 + $/ 2e+3a2$ ®-$ §I"AA $AR’ i31 $hi3l $- $-13$7Z '883zisaA:



see A R3$-%Ta3$0 <A 3%’ $-3Tees $A3] A3 §il§i ° 306

0 & adXKm
3ol %l &
i3 3¢r 3 3A 2A$’ $-3 $J1 3$-3183 $A06
3fle$m’'U $ ie$a B $+ $SHBRIBWSIR'AS’
I 3A 2A 3RR3z=$iep-31dH222$ B AR
58y B $' $-31x34$33 +3a
§US &&-%$.18

ree’ Ai'R &
3fe$m’ e+

y3
A

¥ R a3 iadaBinia $ §i$sNE> 3e$

3 3 3$33 + §iR'A$ @&-$'BR3$-" " ASAiRA3=-3e$R -3a$-18i$3iae $ /
m (483R §IR'A$+ $ii §i3a $ 133 $31a3$Ji83%a2 $-3 $54y R 3 $ 133 $@
1s-TeeA ®A Ri $+ $AIRA%E $hi$ 3 $ 1333 $-1 $-13ae $ 31 $ ®2A eA$ &
- $C313e$!s-3 3 $llesR33esR A $ & Alo RISI$ ®-$ & AI'B &
Ji 3¢ i$-3Tee$m’U $3e 30 $ s-$-1801$ AAI -3 $-siedae$die+iA’ I
U 3i2 3 $5a4%!Te 81 TeAse$ies-12$ZAAe eAS$-2 $33 +U'44°% & $-° ¢
®-%$-3 $h8iRI3 a&A $ A"’ $ ie$R3!3e y3xe-3@-38% 8U $-3 $ 181$1:

083 $3 Re- $ &-$'e3 Al3$!1 $Te$-13$R% + 32$Z3RR3$ 3 3R
33 +32$ ®-$34yA' 2 A3$-13$584y R 2 $ '@eed $2 R $-' $.3R-%$-3 $76
3ieA’is $1 $1 $T843 $U3 + $+3 ' $-37298$3% +32 $-' $-1§i$13ARS] 3
a R i33$- §i$-3Tee$Csi2e $ $!1 $-3 $ 3ee3$ §US$Siesy B 13 3-3
L$i $13-3 4 $ 0383 2@ iRRS$- $-18i$+ $ 3ATeeaes$-i2 3 $I% 31 4
-3leess 3 A ®A$ $-3a$5xed @ $,i%% 31 $- $-°Txece$5ay B 2e$AiR/
leee3aesiz ' $iae $C3!13223$3 Al3  $A&1 $-313 $reely 3 $. IR3



see A R3$-3Ta3$U <A 3%’ $-3Tees $A3] A3 §il§i ° 3+

0 & adKm

o - 8U
sfeess/sl  $1 $-3les$® 3 $isiRiA*$ - 8U
$11 $ 1811 $36 |° $/ 1A

Z3TA $-18i%$-13 3 $,3R

hgi’aRi $a $

33 $A &

reely 3$-

e +iA

e

$33 1 $3laPlexrlh 1B S - 8U

/3] $12-3 3 %8 TA$ies$-138,°R $ 3 3z $3Te- §iA%3xe$ ®-$1es$-3le
Uid&3e $ 133+ $32A$A3 | -3233AT8AT +ie3% 3 B’ 3a2$ &-$33 ' +
C'ae- $ 3 $/3 U'ee'RB$T $-3 $- 2UR3SmM e33R $-3 $-1 $1a$C31%3$-1
Asle 32 $-T181%3 $+ $3 Alee-3e $ 138 -3l A $le$ 31 3 35de &43$ |
i3g/3!e & 383 $3 A @RS 3 $AT&E =10’ Tie$ARIZ ¢ 3R! 3
®3e A $ ®-$A 'A $-18i$e'8i$-31@?® $31eA’ i3 &$-3$a i+ $5a&
ie$lersede’'s8i$’ 32 $ A$-i33 [23$-3 $C3l32 $ 3 $ Alaxes$-® $

h 3TA® 2A$-3 $52 3 | » $-13$ZAA= ®A$-2 $J 3 8 &-3 $/3| U's
3le’ Te-3e$iess $K3 3
03 3 0 $- $-180%-73 3 $d31 3$iTleAs3esUice 3 $ilee3s+ $1 32$ i

ITAURT $784°% $ 73-3 $ee3 3$de a3$Tae$-31e2a$C33@$+ $!° 2 32 $ 13
3ee$Cigl $ &’ AI'BR "4$- 8i%$- @UR3$Hh $L SIS SEH B A8 BH73 ASie



see A R3$-%Ta330 <A 3%’ $-3Tes $A3) A3 §il§i ° 30

0 & adXm
3o 13

sieesie 143 $ SATeesias ' SISABS RBAS ' $B3!
S5exelART8I$ 2 | &-22$ 31 $-31224$° 32$ 24+ A
Slee$A e+ $/3)%e $ 2lee$A e+ $K3l&%ae

$17 $-1% 3 $ 34+ ASiass® 3A @A

3fee$.R  $1 $A3 §i431-TA

$eel $'RBR*$ &- 4

RR3 $eeei $-T8I

3 ’ 3%
5&$-1

$7 $0 $iaSieife $ 38+ A$ I8 $R

3fee$s 3 $ A&+ ASl $A3Ve yA $'$-133! Al =AS$AEl $-3le $aR +3
Jiee’ 3 $liaessliee+iAz $ "8I el AlS $/3!82$ =-$K3&32 $liae

| $0" $-18($A3y «A $' AS °B503$,37 3870 $ ! 8ii3-$@3/a’es- A3 $ |
®-$'RR2 $23ia%x$!|l $+ 4$h8IR  $S-3 $'13 $-$BIy BB EISH | &5 a
ree 3 8I03- $i1$-3 $v!3 A’eeA$S+ $h’ 3 [AA+ Al $ ie$’ 3a$R @A 3§
§l@3RRS$ a&-$ §143 +I’A $A3 §i3ite$Uica 3 $S!$ 18i$-3123$C A3
vis R3lsze 'a&A $ 3] 334 3 =-% 13%- $-181$A3A IR $I' $lee$-13 34
-3 $ 3 3B $ 13 $-13$C A $ 3 $Z 'A&%xi'eA$Al $-31234% 343%U0s +
5@ e |« $+ + B 3@$ies-3le’ $ 8 A $ies-3lezes$/3A iR3a$i-3
‘e Ay’ 3@$J] $03$ ®A $-’ $Cil*ae$Ae+$les-T1$ azaes$+ $R 3
§iteeUses ®-$A @+$ =-$A" $+ $3ayA eAze $54%3 ' 3a$+ $ 3lee

e’ 82 $AIRA $-° $- $3TeAzi3 3 3T $Te$-13% 3 3A AS$-13 3 $37e-
Yy 'BR3 $ iRR3 $Tee 32 1 $ leaeRIGIs $C3l3



see A3 RB3$-3T38U A 38 $-37as $As] A3 §iisi s 30

+ & adXm
3lad8d (BB

o les

/3 8U 3BITA

*iRRAZR’ A3z

/iR-323$JIREIS iyA

. RR3A 3y 3e+$lee$-3ledee$ZiBRR3e

m’ 81 $3e$ies-3iedes o' IRigitesZ ‘e -

vis ARIs $ ie$ 3le 3 $Ci3i3lees-i3 3$,3R $ilaediee $ i

$!3 AP Jadciads $ MBS BRI [

3 $Jid%e $'ae$-°$ $-372e3 $3 3 $ 133 $llee TeUsesiessies iRR
/IR 80U $! $1 $3122$h%a!iR$-3 $ 13A 3$83a §iRIgI3a@$h3iae 8§ $'§
@ R8I szs$hsie $,i3%30e$ |3 ARI® 3z2-3 $3ielA iyA$ e$-38% 18
i $522$C3181 TAU3T $ &-$3 TA3a$h3ie $5x2% 3R! Ri 3&$/R 8§U $52$ |
038- $-13 38731 $'R $he ARTaeAS$e Al 2e$i’ $y A $-3lae$A =-R3A3C
, -*@$-3Te3$A ®-R3A3x-3x$ 3- Axl 33$a’8§I$KeI3 $/3!i Aeizl $ &
i-3 $eigl $I" $!leeAR $ A$-3Te$C3i3 $,’ $-13 33231 $ 13 8§i° 3 $4&
3 A yR'@ $+3 3iA3 ®A$i-3 $h 3 $1T U $18i%$-" $* A$-i3s+ U 3
®&-%$- 8i- TeeA $-' $C2!132$481 $-13 38483 3$)'xeA3R3 R3lael $ a4l $U
cleeRT8I3$! Al ewAde $-13$ 180 |° $-2le$laecw® ileze-23. RRI$RAS
Asae ASA $-181$-"$1 $3xe$- 3 $!’° 81 $=idd !
| Tee? 3$-181 $5&$-1 $y -°R $-13$c 3RR3$xI3$3@-3-3e$/R 80U $ 1
BRI  $5x&3$'RR$-3Te3@$Z3RR3e $C’ $-18i$+ 8US Ilel3esies-isl



see A R3$-3Ta3$U <A 3%’ $-3Tees $A3] A3 §il§i ° fd

Vi3 1B8US )3 $BEAY lee

C3l%a@ (3&4'$ $r a A =A

s, iR $!1 $-3123% 3 U6 y3 2$,"(RSA $-i2 2 $C3!%a

3le@3ged llee- a  $!1 $y 3%e3 llee- 2A$S+ | 8i32$31443R$ &-$!

sfee$d’ & $!T $d’ 4% =-$ §IAA $d’ &% i$T48° $- $!1
3lee$diwn 14 $y B 12 $lees-3lae38$din & $- Bis-3lescCs
sies - 8§U $ 3R $'7 $-°iae$3ie+iA’ A3 $ - §U
3@e$. Ri $1T $.B1 $lleessiee+iAz $§ 38+ A $! TA3 $.R

seess. RRS $ 13 ART®  $ie$-3Te® $. BR2 $! 1A $Cizl® B



e A3 R3$-372330 <A 3%’ $-37ae3 $A3! A3 §iigi 3 fi fi
an ] o NN
C $I13% MBahle a3
3e3$,’ IR 3fee3$es lTae- A

©$ IRR $- $ T URISI $4k 3R§I3$mis&ses! sa
37 $ ®-%$3" $,0$ iR 8l $,” $-' Asieesal
- $is s A3 8/8iR+3%e$ 3 -3

sleesd’ & 3lae$divn (& sie8$ - 8sU
5% R8§I34$,1 UASR-$ IRIBS+3TA $3 $ 181$-1 $T43R81%% y30 $Tae$-1
- $-3@desalR’ +$3leesldzde $-7 $- $-3lese A3ae$ 18i$Iaes-i3 343
®-$-3ie3esd 43A BRR3& +3@ 14y B 3@ $AIRA iRR$’ - 8U3ee

3e$.Bi 3fe3$. RR3
03 13R$5e 3 T « $-7 A 2he’ 81 $3 $xigis$ i
iSR! $- $-3Tee$/3le$ - $-'41 $- $-31e3$. RR®
K3ids@e$ iRR$ a-$A e+ 3 U6 y2 23U e



see A% R3$-%Ta3$U <A 3%’ $-3Tees $A3] A3 §ii§i ° fio

"3 $3 $alad

"2 U38 @$-181 $-7 $- $-1 $-13 3 $UR3Ta3$A3Te3$2 iU
Asxeiddsaes$l’ $ o-$- $-1818" A$-181% 3R $3leeRe $!1 $ A$-3a
/| @®- $ 2ees-i SRIZA $-31e$/iR- $-3Te$P 2 $-31c$ - 8U
cie$-i $7 $ 1812 $- $-18i$e® $' A$iees-3Tee3$,’l i3]
Josgi 3 $- $lee 2 | 3 $4T $41 $3lee ’ 8iteSies-2le3$reely 23 -
Tlee$-3Tess & (-3 32iRT8I3$ a+i3] eA$ '8 3 $! 8i3$-1 $ii3
3lee$ 3’ @A A3y -8iy

Az’ U

$U0'aee $USM’A3 $0$,i8i32$i-3 $usIide’ 3341 $41 $ 31 32
$ IR $-T3$mi3A3$ a&-$,31 3$-3 $d’ &
$AIRA $-3Te3a$iee? 32$54y R

a$m A3 i U iiyys$!iee , i Uliy$ 3

U$,i§i%ee d3i 3y$ s U, i83ads3l3

U$Jiee’ d3i 2y$es U6 i 4 diee

|

53CSe!$mS$h!!$"Sr$e5 d m!

' HQH' RR



